113 TERR ISR B (= 4R)

i £ w2 | £ | B
=OE |3 |2 FOR |3 |7
Z20% |3 |2 HOE (3 |7
SO |3 |2 O (3 |7
O |3 |2 =0 |3 |7
EOMW |3 |2 205 |3 |7
20O# |3 |2 RO |3 |7
20F |3 |3 O |3 |8
£0% |3 |3 O |3 |8
ZOR (3 |4 20 |3 |8
HOE (3 |4 wO%E |3 |8
tROT5IE |3 |4 BOL |3 |8
BOH |3 |4 #IOzE |3 |8
=0 |3 |5 0% |3 |8
HO%E |3 |5 BEOME |3 |8
2IO# |3 |5 O |3 |8
FAO® |3 |5 OM |3 |9
=OE |3 |6 BEOM: [3 |9
ROE |3 |6 BRO%E |3 |9
EO% |3 |6 ROB 13 |9
=m0 |3 |6 i 3 |9
O |3 |6 TORK |3 |9
=OH |3 |6 #HOE |3 |9
MO |3 |6 HOM (3 |9
2|O¥E |3 |6 #OM (3 |1
HOH |3 |6 ZIOE (3 |1
2O% |3 |10 ZFOKR |3 |11

FAOR |3 |11
FORE |3 |11
FROFE 13 |11
HOE |3 |11
SO |3 |11







